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Accounting Department / First Exam in Managerial Accounting 564435
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First Questions: (18 marks) To e
Statement A preoduct | B prodlﬁct C pmduc,é D pmduﬁt
Average Selling price per unit J.D o 4 9 7 6
Average variable cost per unit J.D —1.2 1.6 — 54—\ | ( 4.8
Selling mixing ratio % [ 20 20 | 30\ 30

Fixed costs for all products 100000 JD |

A et S \ setin pice X

Instruction: ——— g
1. Find the average contribution mar@@
2. Find the average selling price for all products toge

3. Find the average Variable cost for all products together.

4. Calculate the break-even point in units for all products together.
5. Calculate the break-even point in JD for all products together.
6. Prepare Income Statement for all products together.
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Suzan company produces 4 products A, B, C.D The following mformi;tmn relating to 4 products:

A

Find the break-even point in units for A product only .

Find the Sales in JD for C product only.

Find the Sales in JD for D product only.

// Answer bheet for Instructlon N umber ( 1) (average COIItrlbllthIl margm)
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Answer Sheet for Instruction Number ( 4) ( break-¢e

together. }:
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Answer Sheet for Instruction Number ( 5) (break-even pe
together. ): ‘ 3
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Answer Sheet for Instruction Number ( 6) (Income Statement for all products together )
(1 See
Descriptions ‘ Number of Units | Price of Units
S ules ' | 2==5=h 2
- |2 S§@® B
= e J2 Seo g
- p « C ( LS’W g /
Az 4

www. f acebook. com gr oups/ 5t h. wa36y



Answer Sheet for Instruction Number ( 7) (break-even now@r A product only)

Second Question: (7 marks)
Tamara company produces a certain type of products, the fixed cost price per unit of this product
(1’; 25 JD,'Which constitutes 40% of the total cost. The variable cost of this product is 120000 JD.

“Insfruction:
1. Calculate the break-even point in units. (2 marks)
2. Calculate the break-even point in JD. (2 marks)
%alcu]a.te.saje\itarget in the quantities-and values at a net profit of 80000 JD, using a
~<Income equation) With no change The Selling price per unit. (3 marks)

LSCerm Answer Sheet for Instruction Number { 1) (break-even point in units):

Descriptions Amounts JD
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The End
Our wishes by success,,,,
Dr. Jamal Sharairi
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